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[Class : 12] [T
_ UNIT TEST-1, JULY - 2024

BUSINESS MATHEMATICS

Time 1\”0“‘!11 1 LJ“ "I'!II.IT‘I-I HND STATISTICS lh‘-ﬂ!. h‘lrk'l H 5“
Part -1
1. Answer all the questions by choosing the correct answer from the given 4 alternatives,
Write queslion number, correct option and corresponding answer
3. Each question carrles 1 mark. 10x1=10

1
1. A= (2] then the rank of AATIs
3

(@) 0 ) 1 (© 2 (d) 3
2 Therank of the unit matrix of order 3 is
(@) 2 [® 3 (c) 4 () ¥
. AfoB 02
3 WT= S (M )lsatranslﬂunprnbabllltyrnairix.lhenlhevaluenf:ls
; X
(a) 02 (b) 0.4 {c) 08 (d) 08
Lo 0
4. INherankofthematrix | 0 A <1 |is2,Fhendls
fa) 1 (b) 2 g) 3 (d) only real number
5. |A,.J =3 |adjAl = 243 then Lhe valua n Is _
(a) 4 (b) 5 {c) 6 (@ 7
B. 1_ dx is
xl
{a}in: {h}ih: (c) '-1—+c {d]i*‘c
x! S Ky x?
7. & axis
(@) Ve +c (b) 2Ve + ¢ (©) LiE+ec @ —+c
N : 2 20
8. Lx‘e" dx is _
(a) 12 (®) 4 (c) 4 (d) &4
3
9. —
()
(8 V= (b) "?? () 2% @ 2
1 ' 2
10. .L (2x+ 1) dx is
(a) 1 (v) 2 (€ 3 (d) 4
PART - Il
1. Answerany 4 questions: 2. Each question carries 2 marks:
+ Question number 16 is compulsory: 4x2=8
1. Find the rank of the matrix (1 ‘1)
3 -6
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.‘.“"- Show that the pqualions x + y ® 5, 2x ¢ y = § are cangistent and solve them

-

43 Solve the equations 2x ¢ Jye 7 3x » Ly = O by Cramer's rule

14 Ewvaluate

(s T b
15 Ewaluale ju";' dx
]

o T e ]
18 Evaluate J ™) N

1. Answerany 4 questions, 2. Each question carrles 3 marks

3. Questlion number 22 is compulsory 413=12
' 2 1 1 4
17 Find the rank of the matrix o 1 1 2
1 3 4 7

1 it mt
18 Atotalo! 8,800 was lnvested In two accounts One account eamned 4 3% ennual interes! and the cthar

earnad 6%,% annual intarest If the total interest for one year was T 431 25, how much was imvasted in
each account? (Usa detarminant method)
19, Shaw that the equations x - 4y ¢ Tz = 14, 3x + By - 22= 13, Tx -
*20 Evaruulej alet dx
fex, O<x<1

gy + 20z = § are inconsistent

1
21 un]l-—-l P A—— Find ‘¢ .r]‘ f(x) dx = 2.
4ax+2b i
2? Evaluale Ty
PART - IV
1. Answar all the questions. 2. Each queslion carries 5 marks 4x5=20
23 = Solve the following system of equations by rank method x+y+2=9, 2x+5y+72=52 | 2x- y-2=0
(OR)

Solve by Cramer'srule x+y + 2= 4, 2%-y+3z=1,+2y-2=1
Two products Aand B currently share the markel with shares 50% and 50% each respectively Each

o week some brand switching takes place Of those wha bought Athe previous week, E0% buy itagain
wheraas 40% switch over to B Of those wha bought B the previous week, B0% buy tagan where as
20% switch over lo A Find their shares afler cne week and alter two weeks. |1 the price war contnues,
when Is the equilibrium reached?
(OR)
b) Findk, if the equations x + 2y - 3z=-2, x-y-22=1, 2x + 3y - 52 = k are consistent
Axi+2x+6
25 g) Evaluate J Em dx
(OR)

b) Evaluate I{lﬂg x)? dx
. M2 sin'x
| 26. EJ Evaluate de
; (OR),
b) Evaluate the integral as the limit of a sum: L (2x + 1) dx
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